
Turkish Journal of
INEQUALITIES

Available online at www.tjinequality.com

ON THE SRIVASTAVA-SINGHAL POLYNOMIALS

NEJLA ÖZMEN¹ AND YAHYA CIN¹

ABSTRACT. In this study, we give new properties of the Srivastava-Singhal polynomials $G_n^{(\alpha)}(x, r, \beta, k)$. Various families of bilinear and bilateral generating functions, some special cases and several recurrence relations for these polynomials are obtained.

1. INTRODUCTION

The Srivastava-Singhal polynomials $G_n^{(\alpha)}(x, r, \beta, k)$ are defined by the generating relation (see, [11], Eq. (3.2), p. 78])

$$\sum_{n=0}^{\infty} G_n^{(\alpha)}(x, r, \beta, k) t^n = (1 - kt)^{-\frac{\alpha}{k}} \exp \left\{ \beta x^r \left[1 - (1 - kt)^{\frac{-r}{k}} \right] \right\} \quad (1.1)$$

where, $\alpha > -1$, k is a positive integer.

It is from (1.1) that [11],

$$\begin{aligned} G_n^{(\alpha)}(x, r, \beta, k) &= \frac{k^n}{n!} \sum_{m=0}^{\infty} \frac{(-\beta x^r)^m}{m!} \sum_{j=0}^m (-1)^{m-j} \binom{m}{j} \left(\frac{\alpha + rj}{k} \right)_n \\ &= \frac{k^n}{n!} \sum_{j=0}^{\infty} \frac{e^{\beta x^r} (-\beta)^j}{j!} \left(\frac{\alpha + rj}{k} \right)_n x^{rj} \end{aligned} \quad (1.2)$$

where $(\lambda)_v$ denotes the Pochhammer symbol defined by

$$(\alpha)_n = \begin{cases} \frac{\Gamma(\alpha+n)}{\Gamma(\alpha)} = \alpha(\alpha+1)\dots(\alpha+n-1), & n = 1, 2, 3, \dots \\ (\alpha)_0 = 1. \end{cases}$$

These polynomials have the following generating relation (see, [1], pp.431):

$$\begin{aligned} &\sum_{n=0}^{\infty} \binom{n+m}{n} G_{m+n}^{(\alpha)}(x, r, \beta, k) t^n \\ &= (1 - kt)^{\frac{-(\alpha+mk)}{k}} \exp \left\{ \beta x^r \left[1 - (1 - kt)^{\frac{-r}{k}} \right] \right\} G_m^{(\alpha)} \left[x (1 - kt)^{\frac{-1}{k}}, r, \beta, k \right] \end{aligned} \quad (1.3)$$

Key words and phrases. Srivastava-Singhal Polynomials, generating function, bilinear and bilateral generating functions, recurrence relations.

2010 *Mathematics Subject Classification.* 33C45.

*Received:*02.08.2017

*Accepted:*18.12.2017.

In addition, we give a theorem about the addition formula for Srivastava-Singhal polynomials $G_n^{(\alpha)}(x, r, \beta, k)$:

Theorem 1.1. *We have*

$$\begin{aligned} & G_n^{(\alpha_1+\alpha_2)}(x, r, \beta_1 + \beta_2, k) \\ &= \sum_{m=0}^n G_{n-m}^{(\alpha_1)}(x, r, \beta_1, k) G_m^{(\alpha_2)}(x, r, \beta_1, k). \end{aligned} \quad (1.4)$$

Proof. Replacing α by $\alpha_1 + \alpha_2$ and β by $\beta_1 + \beta_2$ in (1.1), we obtain

$$\begin{aligned} & \sum_{n=0}^{\infty} G_n^{(\alpha_1+\alpha_2)}(x, r, \beta_1 + \beta_2, k) t^n \\ &= (1-kt)^{-\frac{(\alpha_1+\alpha_2)}{k}} \exp\left\{(\beta_1 + \beta_2) x^r \left[1 - (1-kt)^{-\frac{r}{k}}\right]\right\} \\ &= (1-kt)^{-\frac{\alpha_1}{k}} \exp\left(\beta_1 x^r \left[1 - (1-kt)^{-\frac{r}{k}}\right]\right) \\ & \quad \times (1-kt)^{-\frac{\alpha_2}{k}} \exp\left(\beta_2 x^r \left[1 - (1-kt)^{-\frac{r}{k}}\right]\right) \\ &= \sum_{n=0}^{\infty} G_n^{(\alpha_1)}(x, r, \beta_1, k) t^n \sum_{m=0}^{\infty} G_m^{(\alpha_2)}(x, r, \beta_2, k) t^m \\ &= \sum_{n=0}^{\infty} \sum_{m=0}^n G_{n-m}^{(\alpha_1)}(x, r, \beta_1, k) G_m^{(\alpha_2)}(x, r, \beta_2, k) t^n. \end{aligned}$$

From the coefficients of t^n on the both sides of the last equality, one can get the desired result. \square

Now we recall the relationship [[12], p. 315, Eq. (83)]:

$$\begin{aligned} Y_n^\alpha(x; k) &= k^{-n} G_n^{(\alpha+1)}(x, 1, 1, k) \\ & \quad (\alpha > -1; \quad k = 1, 2, \dots) \end{aligned} \quad (1.5)$$

where $Y_n^\alpha(x; k)$ denotes the Konhauser biorthogonal polynomials (cf. [13]-[17]). In particular,

$$\begin{aligned} Y_n^\alpha(x; 1) &= L_n^{(\alpha)}(x) = G_n^{(\alpha+1)}(x, 1, 1, 1) \\ & \quad (\alpha > -1; \quad n = 0, 1, 2, \dots) \end{aligned} \quad (1.6)$$

and the polynomials $Y_n^\alpha(x; 2)$ were encountered earlier by Spencer and Fano [18] in certain analytical calculations involving the penetration of gamma rays through matter.

In Section 2, we prove several theorems involving various families of generating functions for the polynomials $G_n^{(\alpha)}(x, r, \beta, k)$ by applying the method which was studied by Chen and Srivastava [10]. Further, in Section 3, as an application of these theorems, we present some generating relations for the Srivastava-Singhal polynomials $G_n^{(\alpha)}(x, r, \beta, k)$ which are given by (1.2). In the last section, we give some miscellaneous recurrence relations of the Srivastava-Singhal polynomials obtained by (1.1).

2. BILINEAR AND BILATERAL GENERATING FUNCTIONS

In this section, we derive several families of bilinear and bilateral generating functions for the Srivastava-Singhal polynomials $G_n^{(\alpha)}(x, r, \beta, k)$ which are generated by (1.1) and given explicitly by (1.2) using the similar method considered in (see, [2]-[9]).

We begin by stating the following theorem.

Theorem 2.1. *Corresponding to an identically non-vanishing function $\Omega_\mu(y_1, \dots, y_r)$ of r complex variables y_1, \dots, y_r ($r \in \mathbb{N}$) and of complex order μ, ψ , let*

$$\Lambda_{\mu, \psi}(y_1, \dots, y_r; \zeta) := \sum_{k=0}^{\infty} a_k \Omega_{\mu+\psi k}(y_1, \dots, y_r) \zeta^k \quad (a_k \neq 0).$$

Suppose also that

$$\begin{aligned} & \Theta_{n,p}^{\mu, \psi}(x, c, q, u; y_1, \dots, y_r; \xi) \\ & : = \sum_{k=0}^{\lfloor n/p \rfloor} a_k G_{n-pk}^{(\alpha)}(x, c, q, u) \Omega_{\mu+\psi k}(y_1, \dots, y_r) \xi^k. \end{aligned}$$

Then the bilateral generating function for $G_n^{(\alpha)}(x, c, q, u)$ is defined by

$$\begin{aligned} & \sum_{n=0}^{\infty} \Theta_{n,p}^{\mu, \psi} \left(x, c, q, u; y_1, \dots, y_r; \frac{\eta}{t^p} \right) t^n \\ & = (1-ut)^{-\frac{\alpha}{u}} \exp \left\{ qx^c \left[1 - (1-ut)^{-\frac{c}{u}} \right] \right\} \Lambda_{\mu, \psi}(y_1, \dots, y_r; \eta). \end{aligned} \quad (2.1)$$

Provided that each member of (2.1) exists.

Proof. Let S denotes the left hand side of (2.1). Then we find

$$S = \sum_{n=0}^{\infty} \sum_{k=0}^{\lfloor n/p \rfloor} a_k G_{n-pk}^{(\alpha)}(x, c, q, u) \Omega_{\mu+\psi k}(y_1, \dots, y_r) \eta^k t^{n-pk}. \quad (2.2)$$

Now, setting $n \rightarrow n + pk$ in (2.2), we obtain

$$S = \sum_{n=0}^{\infty} \sum_{k=0}^{\infty} a_k G_n^{(\alpha)}(x, c, q, u) \Omega_{\mu+\psi k}(y_1, \dots, y_r) \eta^k t^n.$$

Then by the generating relation (1.1), we find

$$S = (1-ut)^{-\frac{\alpha}{u}} \exp \left\{ qx^c \left[1 - (1-ut)^{-\frac{c}{u}} \right] \right\} \Lambda_{\mu, \psi}(y_1, \dots, y_r; \eta).$$

□

In a similar way, we can state the following theorem.

Theorem 2.2. *Corresponding to an identically non-vanishing function $\Omega_\mu(y_1, \dots, y_r)$ of r (real or complex) variables y_1, \dots, y_r ($r \in \mathbb{N}$) and of complex order μ, ψ, α, β let*

$$\begin{aligned} & \Lambda_{n,p,\mu,\psi}^{\alpha_1, \alpha_2}(x, c, q_1 + q_2, u; y_1, \dots, y_r; t) \\ & : = \sum_{k=0}^{\lfloor n/p \rfloor} a_k G_{n-pk}^{(\alpha_1 + \alpha_2)}(x, c, q_1 + q_2, u) \Omega_{\mu+\psi k}(y_1, \dots, y_r) t^k, \end{aligned}$$

where $a_k \neq 0$, $n, p \in \mathbb{N}$ and the notation $[n/p]$ means the greatest integer less than or equal n/p .

Then, for $p \in \mathbb{N}$, we have

$$\begin{aligned} & \sum_{k=0}^n \sum_{l=0}^{[k/p]} a_l G_{n-k}^{(\alpha_1)}(x, c, q_1, u) G_{k-pl}^{(\alpha_2)}(x, c, q_2, u) \Omega_{\mu+\psi l}(y_1, \dots, y_r) z^l \\ &= \Lambda_{n,p,\mu,\psi}^{\alpha_1, \alpha_2}(x, c, q_1 + q_2, u; y_1, \dots, y_r; z) \end{aligned} \quad (2.3)$$

provided that each member of (2.3) exists.

Proof. For convenience, let T denote the first member of the assertion (2.3) of Theorem 2.2. Then, upon substituting for the polynomials $G_n^{(\alpha_1+\alpha_2)}(x, c, q_1 + q_2, u)$ from the (1.4) into the left-hand side of (2.3), we obtain

$$\begin{aligned} T &= \sum_{k=0}^n \sum_{l=0}^{[k/p]} a_l G_{n-k}^{(\alpha_1)}(x, c, q_1, u) G_{n-pl}^{(\alpha_2)}(x, c, q_2, u) \Omega_{\mu+\psi l}(y_1, \dots, y_r) z^l \\ &= \sum_{l=0}^{[n/p]} \sum_{k=0}^{n-pl} a_l G_{n-k-pl}^{(\alpha_1)}(x, c, q_1, u) G_k^{(\alpha_2)}(x, c, q_2, u) \Omega_{\mu+\psi l}(y_1, \dots, y_r) z^l \\ &= \sum_{l=0}^{[n/p]} a_l \left(\sum_{k=0}^{n-pl} G_{n-k-pl}^{(\alpha_1)}(x, c, q_1, u) G_k^{(\alpha_2)}(x, c, q_2, u) \right) \Omega_{\mu+\psi l}(y_1, \dots, y_r) z^l \\ &= \sum_{l=0}^{[n/p]} a_l G_{n-pl}^{(\alpha_1+\alpha_2)}(x, c, q_1 + q_2, u) \Omega_{\mu+\psi l}(y_1, \dots, y_r) z^l \\ &= \Lambda_{n,p,\mu,\psi}^{\alpha_1, \alpha_2}(x, c, q_1 + q_2, u; y_1, \dots, y_r; z). \end{aligned}$$

□

Theorem 2.3. *Corresponding to an identically non-vanishing function $\Omega_\mu(y_1, \dots, y_r)$ of r complex variables y_1, \dots, y_r ($r \in \mathbb{N}$) and of complex order μ , suppose that*

$$\Lambda_{m,p,q}[x, c, h, u; y_1, \dots, y_r; z] := \sum_{i=0}^{\infty} a_i G_{m+qi}^{(\alpha)}(x, c, h, u) \Omega_{\mu+pi}(y_1, \dots, y_r) z^i$$

where $a_i \neq 0$ and

$$\theta_{m,p,q}(y_1, \dots, y_r; z) := \sum_{j=0}^{[i/q]} \binom{m+i}{i-qj} a_j \Omega_{\mu+pj}(y_1, \dots, y_r) z^j.$$

Then, for $p, q \in \mathbb{N}$; we have

$$\begin{aligned} & \sum_{i=0}^{\infty} G_{i+m}^{(\alpha)}(x, c, h, u) \theta_{m,p,q}(y_1, \dots, y_r; z) t^i \\ &= (1-ut)^{-\left(\frac{\alpha+mu}{u}\right)} \exp \left\{ hx^c \left[1 - (1-ut)^{-\frac{c}{u}} \right] \right\} \\ & \quad \times \Lambda_{m,p,q} \left(x(1-ut)^{-\frac{1}{u}}, c, h, u; y_1, \dots, y_r; z \left(\frac{t}{1-ut} \right)^q \right) \end{aligned} \quad (2.4)$$

provided that each member of (2.4) exists.

Proof. For convenience, let H denote the first member of the assertion (2.4) of Theorem 2.3. Then,

$$H = \sum_{i=0}^{\infty} G_{i+m}^{(\alpha)}(x, c, h, u) \sum_{j=0}^{\lfloor i/q \rfloor} \binom{m+i}{i-qj} a_j \Omega_{\mu+pj}(y_1, \dots, y_r) z^j t^i.$$

Replacing i by $i + qj$ and then using (1.3), we may write that

$$\begin{aligned} H &= \sum_{i=0}^{\infty} \sum_{j=0}^{\infty} \binom{m+i+qj}{i} G_{i+m+qj}^{(\alpha)}(x, c, h, u) a_j \Omega_{\mu+pj}(y_1, \dots, y_r) z^j t^{i+qj} \\ &= \sum_{j=0}^{\infty} \left(\sum_{i=0}^{\infty} \binom{m+i+qj}{i} G_{i+m+qj}^{(\alpha)}(x, c, h, u) t^i \right) a_j \Omega_{\mu+pj}(y_1, \dots, y_r) (zt^q)^j \\ &= \sum_{j=0}^{\infty} a_j (1-ut)^{-\frac{(\alpha+qj+mu)}{u}} \exp \left\{ hx^c \left[1 - (1-ut)^{-\frac{c}{u}} \right] \right\} \\ &\quad \times G_{m+qj}^{(\alpha)} \left[x(1-ut)^{-\frac{1}{u}}, c, h, u \right] \Omega_{\mu+pj}(y_1, \dots, y_r) (zt^q)^j \\ &= (1-ut)^{-\frac{(\alpha+mu)}{u}} \exp \left\{ hx^c \left[1 - (1-ut)^{-\frac{c}{u}} \right] \right\} \\ &\quad \times \sum_{j=0}^{\infty} a_j G_{m+qj}^{(\alpha)} \left[x(1-ut)^{-\frac{1}{u}}, c, h, u \right] \Omega_{\mu+pj}(y_1, \dots, y_r) \left(\frac{zt^q}{(1-ut)^q} \right)^j \\ &= (1-ut)^{-\frac{(\alpha+mu)}{u}} \exp \left\{ hx^c \left[1 - (1-ut)^{-\frac{c}{u}} \right] \right\} \\ &\quad \times \Lambda_{m,p,q} \left(x(1-ut)^{-\frac{1}{u}}, c, h, u; y_1, \dots, y_r; z \left(\frac{t}{1-ut} \right)^q \right), \end{aligned}$$

which completes the proof. \square

3. SPECIAL CASES

When the multivariable function $\Omega_{\mu+\psi k}(y_1, \dots, y_r)$, $k \in \mathbb{N}_0$, $r \in \mathbb{N}$, is expressed in terms of simpler functions of one and more variables, then we can give further applications of the above theorems. We first set

$$\Omega_{\mu+\psi k}(y_1, \dots, y_r) = h_{\mu+\psi k}^{(\alpha_1, \alpha_2, \dots, \alpha_r)}(y_1, \dots, y_r)$$

in Theorem 2.1, where the multivariable extension of the Lagrange-Hermite polynomials $h_{\mu+\psi k}^{(\alpha_1, \alpha_2, \dots, \alpha_r)}(x_1, \dots, x_r)$ [2], generated by

$$\prod_{j=1}^r \left\{ (1 - x_j t^j)^{-\alpha_j} \right\} = \sum_{n=0}^{\infty} h_n^{(\alpha_1, \dots, \alpha_r)}(x_1, \dots, x_r) t^n, \quad (3.1)$$

$$\left(\alpha \in \mathbb{C}; |t| < \min \left\{ |x_1|^{-1}, |x_2|^{-1/2}, \dots, |x_r|^{-1/r} \right\} \right).$$

We are thus led to the following result which provides a class of bilateral generating functions for the multivariable extension of the Lagrange-Hermite polynomials $h_{\mu+\psi k}^{(\alpha_1, \alpha_2, \dots, \alpha_r)}(y_1, \dots, y_r)$ and the Srivastava-Singhal polynomials.

Corollary 3.1. *If*

$$\Lambda_{\mu,\psi}(y_1, \dots, y_r; \zeta) \quad : \quad = \sum_{k=0}^{\infty} a_k h_{\mu+\psi k}^{(\alpha_1, \alpha_2, \dots, \alpha_r)}(y_1, \dots, y_r) \zeta^k$$

$$(a_k \neq 0, \quad \mu, \psi \in \mathbb{C}),$$

then, we have

$$\sum_{n=0}^{\infty} \sum_{k=0}^{[n/p]} a_k G_{n-pk}^{(\alpha)}(x, c, q, u) h_{\mu+\psi k}^{(\alpha_1, \alpha_2, \dots, \alpha_r)}(y_1, \dots, y_r) \frac{\zeta^k}{t^{pk}} t^n$$

$$= (1-ut)^{-\frac{\alpha}{u}} \exp \left\{ qx^c \left[1 - (1-ut)^{-\frac{c}{u}} \right] \right\} \Lambda_{\mu,\psi}(y_1, \dots, y_r; \zeta).$$

Remark 3.1. Using the generating relation (3.1) for the multivariable polynomials $h_{\mu+\psi k}^{(\alpha_1, \alpha_2, \dots, \alpha_r)}(x_1, \dots, x_r)$ and getting $a_k = 1$, $\mu = 0$, $\psi = 1$ in Corollary 3.1, we find that

$$\sum_{n=0}^{\infty} \sum_{k=0}^{[n/p]} G_{n-pk}^{(\alpha)}(x, c, q, u) h_k^{(\alpha_1, \alpha_2, \dots, \alpha_r)}(y_1, \dots, y_r) \zeta^k t^{n-pk}$$

$$= (1-ut)^{-\frac{\alpha}{u}} \exp \left\{ qx^c \left[1 - (1-ut)^{-\frac{c}{u}} \right] \right\} \prod_{j=1}^r \left\{ (1-y_j \zeta^j)^{-\alpha_j} \right\}.$$

$$\left(|\zeta| < \min \left\{ |y_1|^{-1}, |y_2|^{-1/2}, \dots, |y_r|^{-1/r} \right\}, \quad |t| < 1 \right)$$

If we set $r = 1$, $y_1 = y$ and

$$\Omega_{\mu+\psi k}(y) = G_{\mu+\psi k}^{(\alpha_3)}(y, c, q_3, w)$$

in Theorem 2.2, we have the following bilinear generating functions for the Srivastava-Singhal polynomials.

Corollary 3.2. *Let*

$$\Lambda_{n,p,\mu,\psi}^{\alpha_1, \alpha_2}(x, c, q_1 + q_2, u; y, c, q_3, w; t)$$

$$: \quad = \sum_{k=0}^{[n/p]} a_k G_{n-pk}^{(\alpha_1 + \alpha_2)}(x, c, q_1 + q_2, u) G_{\mu+\psi k}^{(\alpha_3)}(y, c, q_3, w) t^k$$

where $a_k \neq 0$, $\mu, \psi \in \mathbb{C}$. Then, we get

$$\sum_{k=0}^n \sum_{l=0}^{[k/p]} a_l G_{n-k}^{(\alpha_1)}(x, c, q_1, u) G_{k-pl}^{(\alpha_2)}(x, c, q_2, u) G_{\mu+\psi l}^{(\alpha_3)}(y, c, q_3, w) z^l$$

$$= \Lambda_{n,p,\mu,\psi}^{\alpha_1, \alpha_2}(x, c, q_1 + q_2, u; y, c, q_3, w; z) \tag{3.2}$$

provided that each member of (3.2) exists.

Remark 3.2. If we take $a_l = 1$, $\mu = 0$, $\psi = 1$, $p = 1$, $z = 1$, $x = y$, $u = w$ and then use the relation (1.4) for Srivastava-Singhal polynomials in Corollary 3.2, we have

$$\begin{aligned}
 & \sum_{k=0}^n \sum_{l=0}^k G_{n-k}^{(\alpha_1)}(x, c, q_1, u) G_{k-l}^{(\alpha_2)}(x, c, q_2, u) G_l^{(\alpha_3)}(x, c, q_3, u) \\
 = & \sum_{k=0}^n G_{n-k}^{(\alpha_1)}(x, c, q_1, u) \sum_{l=0}^k G_{k-l}^{(\alpha_2)}(x, c, q_2, u) G_l^{(\alpha_3)}(x, c, q_3, u) \\
 = & \sum_{k=0}^n G_{n-k}^{(\alpha_1)}(x, c, q_1, u) G_k^{(\alpha_2+\alpha_3)}(x, c, q_2 + q_3, u) \\
 = & G_n^{(\alpha_1+\alpha_2+\alpha_3)}(x, c, q_1 + q_2 + q_3, u).
 \end{aligned}$$

If we set

$$r = 1, \quad y_1 = y \quad \text{and} \quad \Omega_{\mu+\psi k}(y) = g_n^{(s)}(\lambda, y)$$

in Theorem 2.3, where the generalized Cesàro polynomials $g_n^{(s)}(\lambda, x)$ is generated by [6],

$$\sum_{n=0}^{\infty} g_n^{(s)}(\lambda, x) t^n = (1-t)^{-s-1} (1-xt)^{-\lambda}. \quad (3.3)$$

Thus, we get a family of the bilateral generating functions for the generalized Cesàro polynomials and the Srivastava-Singhal polynomials as follows:

Corollary 3.3. *If*

$$\begin{aligned}
 \Lambda_{m,p,q}[x, c, h, u; \lambda, y; z] & : = \sum_{i=0}^{\infty} a_i G_{m+qi}^{(\alpha)}(x, c, h, u) g_{\mu+pi}^{(s)}(\lambda, y) z^i \\
 & (a_i \neq 0, \quad m \in \mathbb{N}_0, \quad \mu, \psi \in \mathbb{C})
 \end{aligned}$$

and

$$\theta_{m,p,q}(\lambda, y; z) := \sum_{j=0}^{\lfloor i/q \rfloor} \binom{m+i}{i-qj} a_j g_j(\lambda, y) z^j$$

where $p, q \in \mathbb{N}$, then we have

$$\begin{aligned}
 & \sum_{i=0}^{\infty} G_{i+m}^{(\alpha)}(x, c, h, u) \theta_{m,p,q}(\lambda, y; z) t^i \\
 = & (1-ut)^{-\frac{(\alpha+mu)}{u}} \exp \left\{ hx^c \left[1 - (1-ut)^{-\frac{c}{u}} \right] \right\} \\
 & \times \Lambda_{m,p,q} \left(x(1-ut)^{-\frac{1}{u}}, c, h, u; \lambda, y; z \left(\frac{t}{1-ut} \right)^q \right)
 \end{aligned} \quad (3.4)$$

provided that each member of (3.4) exists.

Notice that, for every suitable choice of the coefficients a_k ($k \in \mathbb{N}_0$), if the multivariable functions $\Omega_{\mu+\psi k}(y_1, \dots, y_r)$, $r \in \mathbb{N}$, are expressed as an appropriate product of several simpler relatively functions, the assertions of Theorem 2.1, 2.2, 2.3 can be applied to yield many different families of multilinear and multilateral generating functions for the Srivastava-Singhal polynomials.

4. RECURRENCE RELATIONS

We now discuss some miscellaneous recurrence relations of the Srivastava-Singhal polynomials $G_n^{(\alpha)}(x, r, \beta, k)$ given by (1.1). By differentiating each member of the generating function relation (1.1) with respect to x and using

$$\sum_{n=0}^{\infty} \sum_{k=0}^{\infty} A(k, n) = \sum_{n=0}^{\infty} \sum_{k=0}^n A(k, n-k),$$

we arrive at the following (differential) recurrence relation for the Srivastava-Singhal polynomials $G_n^{(\alpha)}(x, r, \beta, k)$ given explicitly by (1.1):

$$\frac{\partial}{\partial x} G_n^{(\alpha)}(x, r, \beta, k) = \beta r x^{r-1} G_n^{(\alpha)}(x, r, \beta, k) - \beta r x^{r-1} \sum_{m=0}^n \binom{r}{k}_m \frac{k^m}{m!} G_{n-m}^{(\alpha)}(x, r, \beta, k). \quad (4.1)$$

Using the relation (1.5) and getting $\alpha \rightarrow \alpha + 1$, $r = \beta = k = 1$ in (4.1), we have the following (differential) recurrence relation for the Laguerre polynomials:

$$\frac{d}{dx} L_n^{(\alpha)}(x) = L_n^{(\alpha)}(x) - \sum_{m=0}^n L_{n-m}^{(\alpha)}(x).$$

Similarly, the special case $\alpha \rightarrow \alpha + 1$, $r = \beta = 1$ of (4.1), we have the following (differential) recurrence relation for the biorthogonal Konhauser polynomials:

$$\frac{d}{dx} Y_n^{\alpha}(x; k) = Y_n^{\alpha}(x; k) - \sum_{m=0}^n \binom{1}{k}_m \frac{1}{m!} Y_{n-m}^{\alpha}(x; k).$$

By differentiating each member of the generating function relation (1.1) with respect to t , we have the following another recurrence relation for these polynomials:

$$(n+1)G_{n+1}^{(\alpha)}(x, r, \beta, k) = \alpha \sum_{m=0}^n k^m G_{n-m}^{(\alpha)}(x, r, \beta, k) - \beta r x^r \sum_{p=0}^n \left(\frac{r}{k} + 1\right)_p \frac{k^p}{p!} G_{n-p}^{(\alpha)}(x, r, \beta, k). \quad (4.2)$$

Choosing $\alpha \rightarrow \alpha + 1$, $r = \beta = k = 1$ in (4.2), we have the following recurrence relation for the Laguerre polynomials:

$$(n+1)L_{n+1}^{(\alpha+1)}(x) = (\alpha+1) \sum_{m=0}^n L_{n-m}^{(\alpha+1)}(x) - x \sum_{p=0}^n (p+1) L_{n-p}^{(\alpha+1)}(x).$$

Writing p instead of m ; we may write that

$$(n+1)L_{n+1}^{(\alpha+1)}(x) = \sum_{p=0}^n (\alpha+1 - xp - x) L_{n-p}^{(\alpha+1)}(x).$$

Finally, setting $\alpha \rightarrow \alpha + 1$, $r = \beta = 1$ in (4.2), we can state the following recurrence relation for the biorthogonal Konhauser polynomials:

$$(n+1)Y_{n+1}^{\alpha+1}(x; k) = (\alpha+1) \sum_{m=0}^n k^m Y_{n-m}^{\alpha+1}(x; k) - x \sum_{p=0}^n \left(\frac{1}{k} + 1\right)_p \frac{k^p}{p!} Y_{n-p}^{\alpha+1}(x; k).$$

Writing p instead of m ; we may write that

$$(n+1)Y_{n+1}^{\alpha+1}(x; k) = \sum_{p=0}^n k^p \left((\alpha+1) - \frac{x}{p!} \left(\frac{k+1}{k} \right)_p \right) Y_{n-m}^{\alpha+1}(x; k).$$

REFERENCES

- [1] H.M. Srivastava and H.L. Manocha, *A Treatise on Generating Functions*, Halsted Press (Ellis Horwood Limited, Chichester), John Wiley and Sons, New York, 1984.
- [2] A. Altın and E. Erkuş, *On a multivariable extension of the Lagrange-Hermite polynomials*, Integral Transforms and Special Functions, **17**(4) (2006), 239-244.
- [3] N. Özmen, and E. Erkuş-Duman, *Some results for a family of multivariable polynomials*, AIP Conf. Proc., **1558** (2013), 1124-1127.
- [4] N. Özmen and E. Erkuş-Duman, *On the Poisson-Charlier polynomials*, Serdica Math. J., **41** (2015), 457-470.
- [5] R. Aktaş and E. Erkuş-Duman, *On a family of multivariate modified Humbert polynomials*, The Scientific World Journal, Article ID 187452, (2013), pp.12.
- [6] N. Özmen and E. Erkuş-Duman, *Some families of generating functions for the generalized Cesáro polynomials*, J. Comput. Anal. Appl., J. Computational Analysis and Applications, **25**(4) (2018), Copyright 2018 Eudoxus Press, LLC, 670-683.
- [7] E. Erkuş and H.M. Srivastava, *A unified presentation of some families of multivariable polynomials*, Integral Transforms Spec. Funct. **17** (2006), 267-273.
- [8] Srivastava, H. M., Özarıslan, M. A., and Kaanođlu, C., "Some Generalized Lagrange-Based Apostol-Bernoulli, Apostol-Euler and Apostol-Genocchi polynomials", Russian Journal of Mathematical Physics, **20**(1) (2013), 110-120.
- [9] R. Aktaş and E. Erkuş-Duman, "The Laguerre polynomials in several variables", Mathematica Slovaca, **63**(3) (2013), 531-544.
- [10] K.-Y. Chen, H.M. Srivastava, *Series identities and associated families of generating functions*, J. Math. Anal. Appl., **311** (2005) 582-599.
- [11] Srivastava, H.M. , Singhal, J.P., A class of polynomials defined by generalized Rodrigues' formula, Ann. Mat. Pura Appl., **90**(1) (1971), 75-85.
- [12] H.M. Srivastava and J.-L. Lavoie, *A certain method of obtaining bilateral generating functions*, Indagationes Mathematicae (Proceedings), **78**(4) (1975), 304-320.
- [13] J.D.E. Konhauser, *Some properties of biorthogonal polynomials*, J. Math. Anal. Appl., **11** (1965), 242-260.
- [14] J.D.E. Konhauser, *Biorthogonal polynomials suggested by the Laguerre polynomials*, Pasific J. Math., **21**(2) (1967), 303-314.
- [15] K.P. Samanta, B. Samanta, *On bilateral generating functions of Konhauser Biorthogonal polynomials*, Universal Journal of Applied Math., **3**(2) (2015), 18-23.
- [16] S. Preisler, *An investigation of biorthogonal polynomials derivable from ordinary differential equations of the third order*, J. Math. Anal. Appl., **4** (1962), 38-64.
- [17] H.M. Srivastava, *Some biorthogonal polynomials suggested by the Laguerre polynomials*, Pacific J. Math., **98**(1)(1982), 235-250.
- [18] L. Spencer and U. Fano, *Penetration and diffusion of X-rays: Calculation of spatial distribution by polynomial expansion*, J. Res. Nat. Bur. Standards, **46**(6) (1951), 446-461.

¹DEPARTMENT OF MATHEMATICS,
FACULTY OF SCIENCE AND ARTS,
DÜZCE UNIVERSITY,
DÜZCE-TURKEY
E-mail address: nejlaozmen06@gmail.com

E-mail address: yahyacin2525@gmail.com